Al Ol &b Ak H Al A
S S04 LA AH
syl
XYY HEH L 0N M2
=gt =R (chel:=@)
2 S 4
H - 2 (3H) - KIS 0l &t o il HImEET
o0t 23,181,159 31,538,905 A 8,357,746
= 10,105,268
J| 3,146,114
< 7,659,777
T 2,270,000
=EMZE FF3 & o F4M=S JIE 2= 22,890,047 31,500,978 A 8,610,931
= 10,105,268
J| 3,146,114
< 7,368,665
T 2,270,000
g = 19,234,489 28,861,888 A9Q,627,399
= 0,049,408
2l 2,599,514
< 6,585,567
=&Y olg ¥ HAAEF 2 6,417,038 5,758,207 658,831
= 5,414,769
< 1,002,269
308 MtXIEHSOIH 6,417,038 5,758,207 658,831
= 5,414,769
< 1,002,269
01 HXNHHNBHELS 6,417,038 5,758,207 658,831
OJN=EY oy & Zd of 6,417,038
= 5,414,769
< 1,002,269
gAXE ¥ FE FAFEH S X 80,000 220,000 A 140,000
= 80,000
403 Mt SHHSA=0l& 80,000 220,000 A 140,000
= 80,000
01 HXSHMA2E X 80,000 220,000 A 140,000
ogdxteg, g AAMEM 80,000
= 80,000
IS ARNA=S AR oA X 1,794,000 1,776,667 17,333
J| 1,076,400
< 717,600
307 21201 A 1,794,000 1,776,667 17,333
J| 1,076,400
< 717,600
02 LAFHAANFEX 1,794,000 1,776,667 17,333
OI=sLAAL 1A 1,794,000
Jl| 1,076,400
< 717,600
CCTV & gdeolmet X XA(=1 376,800 232,200 144,600
J| 314,000
< 62,800
403 A X EHHS =0l A 376,800 232,200 144,600
J| 314,000




SN SSYAD
M OIEMEYE FEE Y otd F4E I8 2=
el Jbsge X7 CERED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
== 62,800
01 XM A2E X 376,800 232,200 144,600
©CCTV X s 376,800
J| 314,000
< 62,800
SESYAEZT MY SEXNH(21) 47,040 0 47,040
2 38,400
= 8,640
308 XX EHHSOIA 47,040 0 47,040
= 38,400
< 8,640
01 X HHILEXS 47,040 0 47,040
O=s2EdA3 LY ZFSXA 47,040
= 38,400
< 8,640
AadE BAZ2(=21) 1,075,000 1,125,000 A 50,000
= 1,000,000
< 75,000
308 XXM S0 A 1,075,000 1,125,000 A 50,000
= 1,000,000
< 75,000
01 AXNSGHBLAEES 1,075,000 1,125,000 250,000
Odx=z 243 1,075,000
= 1,000,000
< 75,000
IS AL N OIS0HEX 2l - AH)(=210) 290,000 0 290,000
= 200,000
< 90,000
308 XXM S0 A 290,000 0 290,000
= 200,000
< 90,000
01 IXNHHBMNEES 290,000 0 290,000
OJN=EM=X 2el - & Z 290,000
= 200,000
< 90,000
DFEAMM ALl K (OFSHAM =AM X&)(2 132,600 0 132,600
2)
= 102,000
< 30,600
308 XXM S0l A 132,600 0 132,600
= 102,000
< 30,600
01 IXNSHHBNEES 132,600 0 132,600
OJMN=HALM =HXeldl X 132,600
= 102,000
< 30,600




AN SSEIM
My JlEXGY HEH L N M2 Il 2F
el Jbsge X7 CERED
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ISAM A X2 (HSHEHAMAM =HE NH)(=2) 276,900 0 276,900
= 213,000
< 63,900
308 AHAIEHHSOIA 276,900 0 276,900
= 213,000
< 63,900
01 HIXNHHNBHELS 276,900 0 276,900
OIMN=HALM =HE XA 276,900
= 213,000
< 63,900
2HS ¢ Xd(21) 3,407,137 2,723,006 684,131
= 3,001,239
< 405,898
308 XXM SO A 3,407,137 2,723,006 684,131
= 3,001,239
< 405,898
01 IXNHHBANEES 3,407,137 2,723,006 684,131
OZFHSE HYES S 3,407,137
= 3,001,239
< 405,898
SSsEHY 22 (=21) 1,450,937 1,440,203 10,734
J| 1,209,114
< 241,823
308 MtXIEHMSOIH 1,450,937 1,440,203 10,734
J| 1,209,114
= 241,823
01 HXNHHNBHEELS 1,450,937 1,440,203 10,734
oO3s¢LHHE 24 1,450,937
J| 1,209,114
< 241,823
St AHEAE A=5245F N 75,600 108,000 A 32,400
308 XX EHSOIA 75,600 108,000 A 32,400
01 HXNHHNBMNEELS 75,600 108,000 A 32,400
OsIt ANHLAE A=sAF XN 75,600
ASF, HPAI, FMD & AIZ XA 2= 505,000 10,000, 000 A 9,495,000
202 o4dl 5,000 0 5,000
01 = LH o4 Hi 5,000 0 5,000
OYdAMITAMA 2= =W 5,000
206 = Hl 500,000 3,366, 360 A 2,866,360
01 MHZ 4l 500,000 3,366, 360 A 2,866,360
OASF, HPAI, FMD &AIZ A XA = 500,000
S=YY - SUSAMUNNE - =2 HHSsE ML 25,500 68,000 A 42,500




AN SSEIM
M JlEMSY HES U UM M2 IY 7S
Crel JtEg o =7 (el @)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
201 Le-2d| 25,500 68,000 A 42,500
01 At 22l 25,500 68,000 A 42,500
ogy ded 2, €Y 2 WS S 25,500
HE - SH - IHEE Al 2EX A 2,044,178 173,620 1,870,558
202 o4dl 5,000 10,000 A5,000
01 = LH o4 1l 5,000 10,000 A5,000
OJ=gdy g2 =& 5,000
308 XX EHH SOl A 2,039,178 163,620 1,875,558
01 AXHHILEES 2,039,178 163,620 1,875,558
OxtcEd Ald 2HX2 2,039,178
EdE &2 HgEs XN 91,200 114,000 A 22,800
308 A EHHSOIA 91,200 114,000 A 22,800
01 AXSHBLAEES 91,200 114,000 A 22,800
OJN}=dzE ¥ HEES X 91,200
tsdgy g9 2133 X2 76,975 134,950 ABT7,975
308 XX EHSOIA 76,975 134,950 ABT7,975
01 IXNSHHBNEES 76,975 134,950 ABT7,975
OJ=dgY ¢ X3 N 76,975
=22 = & 104,800 208,800 A 104,000
308 XtXIEHH SOl A 104,800 208,800 A 104,000
01 AXHHILEES 104,800 208,800 A 104,000
oOz+=2 =& X& 104,800
&Y HEAA"” 25 104,400 41,400 63,000
308 XtXIEHHSOIA 104,400 41,400 63,000
01 HXNHHNBHELS 104,400 41,400 63,000
OJ=ZY HEAAE 2= 104,400
Ord=2 JIOH K& 97,020 79,200 17,820
308 XX EHSOIA 97,020 79,200 17,820
01 HIXNHHNBMNEELES 97,020 79,200 17,820
ootMsEe JlIlH X 97,020
=&Y Hod 25t 241,800 169,800 72,000
308 XXM SO0l A 241,800 169,800 72,000
01 IXNHHBNEES 241,800 169,800 72,000
OJI=Z2Y ¢ 25t 241,800
S5 A5 ¥ YAANE XY 97,629 79,520 18,109
403 XSS X201 & 97,629 79,520 18,109
01 X SHHAN2E = 97,629 79,520 18,109




AN SSEIM
M JlEMSY HES U UM M2 IY 7S
Crel JtEg o =7 (el @)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OEZE 45 ¥ &F A& XN 97,629
EZESE HAN M2l & 49,245 18,900 30,345
308 XXM SOl A 12,285 18,900 NB,615
01 IXNHHBNEES 12,285 18,900 26,615
Ood&stAE HAN Ml =& 12,285
403 UHXISHHE X201 H 36,960 0 36,960
01 X SHHX2E= 36,960 0 36,960
OJt= ALMIA™el Dl XI& 36,960
A dEsI FHY HAZEE AsHl N 225,000 450,000 A 225,000
308 A EHHSOIA 225,000 450,000 A 225,000
01 AXSGHBLAEES 225,000 450,000 A 225,000
Oi HYsIH MG HAES A=t XN 225,000
THY A 848 M2 26,900 48,700 A 21,800
202 o4dl 6,800 8,000 A 1,200
01 = LH o4 1l 6,800 8,000 A1,200
OTHY S Yo £ 6,800
308 XX EHHSOIA 10,500 40,700 230,200
01 X HHILEXS 10,500 40,700 230,200
OFHY #HAFS 235t 10,500
403 Ut SHHSA=0l& 9,600 0 9,600
01 X SHMA2E X 9,600 0 9,600
OFHMS HMAFES 235t 9,600
& s 2822 X& 34,050 34,650 A 600
308 XXM SO A 34,050 34,650 A 600
01 IXNHHBNEES 34,050 34,650 A 600
O st 2dael XNE 34,050
St SO0HAl 43I HAEASZH X 25,000 0 25,000
308 XtXIEHH SOl A 25,000 0 25,000
01 X HHILEES 25,000 0 25,000
OS0HA A8t HAS2H XA 25,000
HAsIH AOQE 248 HO AMAE 25 22,500 22,500 0
403 A X EHHS 20l A 22,500 22,500 0
01 X EHHMA=E L 22,500 22,500 0
OXRALSIH ADE 2E AHAH AIAE 2= 22,500
LEsIH Eataottliet X 30,240 0 30,240
403 UHXSHHS =0l & 30,240 0 30,240
01 XM A=2E X 30,240 0 30,240




SN SSYAD
My JlEXGY HEH L N M2 Il 2F
el JtEge =& (B9 ®R)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OLd=sIt E3taottlicet K& 30,240
=M Hrus X 10,000 0 10,000
307 glz2+ol & 10,000 0 10,000
02 QIZtE M AHE X 10,000 0 10,000
Ox=2A H=u= K& 10,000
gtis2 23 - 2l 2,532,758 1,496,390 1,036,368
= 49,860
< 212,898
T 2,270,000
2 - RasSs J2H XN (Z2) 6,630 24,708 A 18,078
= 5,100
= 1,530
308 XtXIEHH SOl A 6,630 24,708 A 18,078
= 5,100
< 1,530
01 AXNSHHBANEES 6,630 24,708 A 18,078
/I - sassS 24 N3 6,630
= 5,100
< 1,530
2 -RAS2 2x-ES HE NA(=1) 33,558 43,122 AQ,564
= 19,740
< 13,818
308 AHXIEHSOIA 33,558 43,122 AQ,564
= 19,740
< 13,818
01 HIXNHHNBMNEES 33,558 43,122 N 9,564
ORIl - RasSE #*x - 25 HE XA 33,558
= 19,740
< 13,818
220l E45 +=H NA(=1) 55,044 60,060 A5,016
= 25,020
< 30,024
308 XXM SOl A 55,044 60,060 A5,016
= 25,020
< 30,024
01 IXNHHBMNEES 55,044 60,060 25,016
©Z2D20l S48st+=Hl XN 55,044
= 25,020
< 30,024
Bt sSSX2HE A KNI (&) 2,270,726 0 2,270,726
< 726
T 2,270,000
401 AIEHI L 20 2,270,726 0 2,270,726
< 726
T 2,270,000




SN SSYAD
My JlEXGY HEH L N M2 Il 2F
& BtisE2 25 - 2l (=& J)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
01 Al &bl 2,222,126 0 2,222,126
ObtelsS2 NJAWH A8 XN (M) 2,222,126
= 726
| 2,221,400
02 2eltl 43,500 0 43,500
OttASE X2HEH 2148 X3 (&8 43,500
T 43,500
03 A& S THHI 5,100 0 5,100
ObtelSS XJAWH A8 X (M) 5,100
| 5,100
sS85 - &2 - del A 143,800 128,000 15,800
202 oddl 6,800 8,000 A 1,200
01 = LH o4 1l 6,800 8,000 A 1,200
O=s=E3sd=: =& 6,800
308 XX EHH SOl A 137,000 120,000 17,000
01 AXSHBLELS 137,000 120,000 17,000
O=s=223 - &el - ™Ml XA 137,000
s=223 - 21X A8 X& 21,000 30,000 A 9,000
403 X SHHSA=0l& 21,000 30,000 A 9,000
01 X SHMA2E X 21,000 30,000 A 9,000
Os2823 - =X AlE XA 21,000
=% gteisE Es =4 2,000 20,000 A 18,000
201 L2l 2,000 0 2,000
01 At 22l 2,000 0 2,000
oOs=2= HM&E S 2,000
NS Y- otdY &8 1,122,800 1,142,700 219,900
= 6,000
J| 546,600
< 570,200
42 HACCP ZH&E (=2 1) 82,800 82,800 0
| 72,000
< 10,800
308 XX EHH SOl A 82,800 82,800 0
| 72,000
< 10,800
01 X HHILEES 82,800 82,800 0
O=4= HACCP 2188 XI& 82,800
| 72,000
< 10,800
XS HUSASAMLAEY 2+ (=12) 12,000 12,000 0
= 6,000
S 6,000




AN SSEIM
E: JEFYY IS UL AW BUB I8 1A
SRl M SN HA B (B9 ®R)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
301 LEHZ 12,000 12,000 0
= 6,000
< 6,000
12JEEd=S 12,000 12,000 0
OXXIHH FHSMASALZARY 2E=+E 12,000
= 6,000
< 6,000
CEZAMY A XN (=2) 791,000 791,700 A700
J| 474,600
< 316,400
307 glz2+ol & 791,000 791,700 A700
J| 474,600
< 316,400
02 YAFHAANFEE 791,000 791,700 A700
OE=Z A& oAt 791,000
J| 474,600
< 316,400
Sohs0 & A FE HACCP XI& 75,000 64,400 10,600
202 4l 6,800 8,000 A1,200
01 = LH 4 b 6,800 8,000 A 1,200
OHACCPXI & H2F=& 6,800
308 X EHSOIA 11,800 0 11,800
01 HIXNHHNBMNEES 11,800 0 11,800
OXYZ HACCP &8 XA 11,800
403 XIS E X201 & 56,400 56,400 0
01 X SHHAN2E= 56,400 56,400 0
OHACCP Al - EHI S XI& 56,400
SASHAT AMLH N X2 162,000 150,000 12,000
403 A X EHHS 20l A 162,000 150,000 12,000
01 X HHMA=LE L 162,000 150,000 12,000
O=UMESZHET AL e XA 162,000
HE2IZH(SSLADL) 33,432 37,927 A4 ,495
Jl=&l 33,432 37,927 A4, 495
EM2E Jl=ZHl 33,432 37,927 A4,495
201 Let249] 23,676 25,747 A2,071
01 At 22/l 23,676 25,747 22,071
ORAM2Y AtR2ell 23,676
202 Od4dl 6,156 9,180 N 3,024
01 = LH o4 1 6,156 9,180 A 3,024
fFA2E FUHNYI 6,156




AN SSEIM
B HNSAAY (S2LAD)
& 123l (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
203 YR =&l 3,600 3,000 600
04 FN2ELRZ=TH 3,600 3,000 600
©202! ol at 3,600
Neas(ssgd) 257,680 0 257,680
HEAHHKI = 257,680 0 257,680
s=2A At 257,680 0 257,680
705 ==& cl 34 257,680 0 257,680
04 Al - EXISOHED| 3 0l === 0| Kk&F & 257,680 0 257,680
0208 ss¢4 257,680






